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1. Which of these division calculations have the answer of 3 r 2?
23+7 17+5 32+6
7+2 14+-4 30+8

2. | have 60 metres of bunting for the school fair. What length of bunting will be left over
if | cut it into lengths of 8 metres?
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. It takes 7 minutes to make a pom-pom. How many complete pom-poms can Malik
make in 30 minutes?

. 23 apples are shared equally between 4 children. How many whole apples does each
child get?

. Ruby writes:
37+5=617
Explain what mistake Ruby has made, and write the correct answer.

. Decide whether each calculation has a remainder or not. Explain how you can do this
without doing each calculation?

Has a remainder?

(Yes or No)

487

48+8

48-+9

567

56+8

569





